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Additional file 4: Figure S4. (a) Probability density of estimated ARS likelihood by the
environmental NPMR model for the building (purple polygon) and the validation (orange
polygon) sets, with the vertical lines indicating the cutoff value for binary conversion that
maximized the true skill statistic for the respective sets. (b) The receiver operating characteristic
curve for the binary classification of the predictions by the environmental NPMR model on the
building set (purple curve) and the validation set (orange curve), compared to the 1:1 diagonal
(black line) corresponding to a model that did no better than random. The AUC value is the area
under the receiver operating characteristic curve for the respective curve.



